PROCEDURE palla;

VAR


s,p,e,g,r:REAL;

BEGIN


r:=1.5707963267948966192313216916398;


p:=1.8849555921538759430775860299677;


e:=2.0943951023931954923084289221863;


g:=6.283185307179586476925286766559;


s:=5;


Line(0,s);



Line(s*cos(3*r-p),s*sin(3*r-p));


Line(s*cos(3*r-p+g/2-p),s*sin(3*r-p+g/2-p));

 
Line(s*cos(3*r-p+2*(g/2-p)),s*sin(3*r-p+2*(g/2-p)));


Line(s*cos(3*r-p+3*(g/2-p)),s*sin(3*r-p+3*(g/2-p)));


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


Line(s*cos(3*e/4),s*sin(3*e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


MoveTo(2*s*cos(-e/4),0);


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


Line(s*cos(3*e/4),s*sin(3*e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


MoveTo(s*cos(-e/4),s+s*sin(e/4));


Line(0,s);


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


Line(0,-s);


Line(s*cos(-e/4),s*sin(-e/4));


MoveTo(-s*cos(-e/4),2*s+s*sin(e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


Line(0,-s);


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


MoveTo(s*cos(-e/4),3*s+3*s*sin(e/4));


Line(0,s);


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


Line(0,-s);


Line(s*cos(-e/4),s*sin(-e/4));


MoveTo(-s*cos(-e/4),4*s+3*s*sin(e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


Line(0,-s);


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


MoveTo(0,2*s+2*s*sin(e/4));


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


Line(s*cos(3*e/4),s*sin(3*e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


MoveTo(2*s*cos(-e/4),2*s+2*s*sin(e/4));


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


Line(s*cos(3*e/4),s*sin(3*e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


MoveTo(s*cos(-e/4),5*s+5*s*sin(e/4));


Line(0,s);


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


Line(0,-s);


Line(s*cos(-e/4),s*sin(-e/4));


MoveTo(-s*cos(-e/4),6*s+5*s*sin(e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


Line(0,-s);


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


MoveTo(0,4*s+4*s*sin(e/4));


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


Line(s*cos(3*e/4),s*sin(3*e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


MoveTo(2*s*cos(-e/4),4*s+4*s*sin(e/4));


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


Line(s*cos(3*e/4),s*sin(3*e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


MoveTo(s*cos(-e/4),7*s+7*s*sin(e/4));


Line(0,s);


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


Line(0,-s);


Line(s*cos(-e/4),s*sin(-e/4));


MoveTo(-s*cos(-e/4),8*s+7*s*sin(e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


Line(0,-s);


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


MoveTo(0,6*s+6*s*sin(e/4));


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


Line(s*cos(3*e/4),s*sin(3*e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


MoveTo(2*s*cos(-e/4),6*s+6*s*sin(e/4));


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


Line(s*cos(3*e/4),s*sin(3*e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


MoveTo(s*cos(-e/4),9*s+9*s*sin(e/4));


Line(0,s);


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


Line(0,-s);


Line(s*cos(-e/4),s*sin(-e/4));


MoveTo(-s*cos(-e/4),10*s+9*s*sin(e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


Line(0,-s);


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


MoveTo(0,8*s+8*s*sin(e/4));


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


Line(s*cos(3*e/4),s*sin(3*e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


MoveTo(2*s*cos(-e/4),8*s+8*s*sin(e/4));


Line(s*cos(-e/4),s*sin(-e/4));


Line(s*cos(e/4),s*sin(e/4));


Line(s*cos(3*e/4),s*sin(3*e/4));


Line(s*cos(5*e/4),s*sin(5*e/4));


Line(s*cos(7*e/4),s*sin(7*e/4));


MoveTo(0,2*s+2*s*sin(e/4));


Line(0,s);



Line(s*cos(3*r-p),s*sin(3*r-p));


Line(s*cos(3*r-p+g/2-p),s*sin(3*r-p+g/2-p));

 
Line(s*cos(3*r-p+2*(g/2-p)),s*sin(3*r-p+2*(g/2-p)));


Line(s*cos(3*r-p+3*(g/2-p)),s*sin(3*r-p+3*(g/2-p)));


MoveTo(0,4*s+4*s*sin(e/4));


Line(0,s);



Line(s*cos(3*r-p),s*sin(3*r-p));


Line(s*cos(3*r-p+g/2-p),s*sin(3*r-p+g/2-p));

 
Line(s*cos(3*r-p+2*(g/2-p)),s*sin(3*r-p+2*(g/2-p)));


Line(s*cos(3*r-p+3*(g/2-p)),s*sin(3*r-p+3*(g/2-p)));


MoveTo(0,6*s+6*s*sin(e/4));


Line(0,s);



Line(s*cos(3*r-p),s*sin(3*r-p));


Line(s*cos(3*r-p+g/2-p),s*sin(3*r-p+g/2-p));

 
Line(s*cos(3*r-p+2*(g/2-p)),s*sin(3*r-p+2*(g/2-p)));


Line(s*cos(3*r-p+3*(g/2-p)),s*sin(3*r-p+3*(g/2-p)));


MoveTo(0,8*s+8*s*sin(e/4));


Line(0,s);



Line(s*cos(3*r-p),s*sin(3*r-p));


Line(s*cos(3*r-p+g/2-p),s*sin(3*r-p+g/2-p));

 
Line(s*cos(3*r-p+2*(g/2-p)),s*sin(3*r-p+2*(g/2-p)));


Line(s*cos(3*r-p+3*(g/2-p)),s*sin(3*r-p+3*(g/2-p)));


MoveTo(s*cos(-e/4),s+s*sin(e/4));


Line(s*cos(3*r-p+3*(g/2-p)),-s*sin(3*r-p+3*(g/2-p)));


Line(s*cos(3*r-p+2*(g/2-p)),-s*sin(3*r-p+2*(g/2-p)));


Line(s*cos(3*r-p+g/2-p),-s*sin(3*r-p+g/2-p));


Line(s*cos(3*r-p),-s*sin(3*r-p));


MoveTo(s*cos(-e/4),3*s+3*s*sin(e/4));


Line(s*cos(3*r-p+3*(g/2-p)),-s*sin(3*r-p+3*(g/2-p)));


Line(s*cos(3*r-p+2*(g/2-p)),-s*sin(3*r-p+2*(g/2-p)));


Line(s*cos(3*r-p+g/2-p),-s*sin(3*r-p+g/2-p));


Line(s*cos(3*r-p),-s*sin(3*r-p));


MoveTo(s*cos(-e/4),5*s+5*s*sin(e/4));


Line(s*cos(3*r-p+3*(g/2-p)),-s*sin(3*r-p+3*(g/2-p)));


Line(s*cos(3*r-p+2*(g/2-p)),-s*sin(3*r-p+2*(g/2-p)));


Line(s*cos(3*r-p+g/2-p),-s*sin(3*r-p+g/2-p));


Line(s*cos(3*r-p),-s*sin(3*r-p));


MoveTo(s*cos(-e/4),7*s+7*s*sin(e/4));


Line(s*cos(3*r-p+3*(g/2-p)),-s*sin(3*r-p+3*(g/2-p)));


Line(s*cos(3*r-p+2*(g/2-p)),-s*sin(3*r-p+2*(g/2-p)));


Line(s*cos(3*r-p+g/2-p),-s*sin(3*r-p+g/2-p));


Line(s*cos(3*r-p),-s*sin(3*r-p));


MoveTo(s*cos(-e/4),9*s+9*s*sin(e/4));


Line(s*cos(3*r-p+3*(g/2-p)),-s*sin(3*r-p+3*(g/2-p)));


Line(s*cos(3*r-p+2*(g/2-p)),-s*sin(3*r-p+2*(g/2-p)));


Line(s*cos(3*r-p+g/2-p),-s*sin(3*r-p+g/2-p));


Line(s*cos(3*r-p),-s*sin(3*r-p));


MoveTo(-3*s*cos(-e/4),2*s+s*sin(e/4));


Line(s*cos(3*r-p),s*sin(3*r-p));


Line(s*cos(3*r-p+g/2-p),s*sin(3*r-p+g/2-p));

 
Line(s*cos(3*r-p+2*(g/2-p)),s*sin(3*r-p+2*(g/2-p)));


Line(s*cos(3*r-p+3*(g/2-p)),s*sin(3*r-p+3*(g/2-p)));


MoveTo(4*s*cos(-e/4),2*s+2*s*sin(e/4));


Line(s*cos(3*r-p+3*(g/2-p)),-s*sin(3*r-p+3*(g/2-p)));


Line(s*cos(3*r-p+2*(g/2-p)),-s*sin(3*r-p+2*(g/2-p)));


Line(s*cos(3*r-p+g/2-p),-s*sin(3*r-p+g/2-p));


Line(s*cos(3*r-p),-s*sin(3*r-p));

END;

RUN(palla);
